== O-I
A & 0l & AF 2 E A A
20229 = = 0lat LBl AL
A R =y
M Ngez2
Sl SN HAIS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Fal=n. 42,136,864 81,238,527 A 39,101,663
= 1,319,000
< 8,291,920
Al 32,525,944
nNge=z 16,478,000 18,762,531 A2,284,531
< 231,800
Al 16,246,200
SHIIAE 3,868,000 8,287,531 24,419,531
SEgdt 200,000 0 200,000
401 AIEHI L 20 200,000 0 200,000
01 A& HI 198,560 0 198,560
OYE&E~&8Y T2 SXHEIA 198,560
03 AlE 2 THHI 1,440 0 1,440
OUE~&2Y T2 SZHIAMN 1,440
2HQEZ 1,200,000 800,000 400,000
401 A& HIZ 2018 1,200,000 800,000 400,000
01 A& HI 1,195,680 794,960 400,720
ORA-QF T2 HTXBA
1,200,000, 000& *99.64% 1,195,680
03 Al =2 THHI 4,320 5,040 AT20
ORM-QE T2 HTHBA
1,200,000,000& *0.36% 4,320
dE20|2t 1,000,000 3,700,000 A 2,700,000
401 A& HIZ 201 I 1,000,000 3,700,000 A 2,700,000
01 A& HI 996,400 3,685,240 A 2,688,840
OSI~&I &2 SEZEHIA
1,000,000, 000& *99.64% 996,400
03 Al SR THHI 3,600 14,760 A 11,160
OSI~&I| &2 SEZEHIA
1,000,000,000& *0.36% 3,600
ANESX 22| 1,030,000 1,700,000 A 670,000
401 Al HI K 201 Y] 1,030,000 1,700,000 A 670,000
01 A& HI 1,026,850 1,686,374 A 659,524
OSHXNYGAE A2l AtY
500,000,000& *99.37% 496,850
OZFQIE 0 0l & 360,000
sA=gZ otdst 2z x4 150,000
BF A=S0s dY2 ZEZFIA 60,000
as AEZ2 &2 MEE S A 35,000
S 2NMZ o FHISA 50,000
22 D=EY o BHdEH 65,000




SN AL
IU

Mz XgHE2
R SHXY9AE (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OA2R2 o B AY 170,000
=X HE0IE =852 & =2 & A
o 20,000
BE 2F02 & &2 =2 &b 50,000
Sts AME & o HH|IZBAH 30,000
CES 70,000
- AE F FTEHEZ ZHA U ALY 30,000
- 0|JCIOHIE &I & &E2 HEH 40,000
03 Al 201 Y| 3,150 13,626 N 10,476
OSHNYAE SA2elAd
500,000, 000& *0.63% 3,150
MoH=S2AS 38,000 1,137,531 A 1,099,531
401 Al HI L 2 0HHI 38,000 1,137,531 A 1,099,531
01 Al & H| 37,590 1,137,531 A 1,099,941
O E2 MHllERAIY (FXR)
38,000,000 * 98.92% 37,590
03 Al & STl 410 0 410
O E2 HHERAIYE (FXR) 410
Ofg=x o1& &b 400,000 0 400,000
401 AlEHIZL 2 0HY| 400,000 0 400,000
01 Al&H| 397,120 0 397,120
OOt xsst & o1 HHIZAH
400,000,000%99.28% 397,120
03 Al&E 201 Y| 2,880 0 2,880
OOt xsst & ol HHIZAH
400,000,000%0.72% 2,880
SHEEZ 4,690,000 2,900,000 1,790,000
golM 100,000 0 100,000
401 Al HI L 2 0HHI 100,000 0 100,000
01 Al&H| 99,280 0 99,280
QEHINH sHEEZZ SEZIEZA 99,280
03 AlE 201 720 0 720
OGN s0EZR2 SHELIEZA 720
A 50,000 0 50,000
401 Al HI L £ 0HHI 50,000 0 50,000
01 Al& H| 49,640 0 49,640
O2ild sHES SHIL A B A} 49,640
03 Al&E 201 Y| 360 0 360
O sHETZ=Z SHILEZA 360
s24d 1,400,000 100,000 1,300,000




EXN: A4
HE: NYER
gel: s0EER (el &)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
1T AIEHIZ 20| 1,400,000 100,000 1,300,000
01 Al&H| 1,394,960 99, 100 1,295,860
Oz2d sHETZZ SHILEZA
1,400,000,000& *99.64% 1,394,960
03 AlE 201 Y| 5,040 900 4,140
Oz2d sHETZZ SILEEZA
1,400,000, 000& *0 . 36% 5,040
=& 800,000 500,000 300,000
401 Al EHI L 204 HI 800,000 500,000 300,000
Al & H| 794,960 496,400 298,560
OHlEd sHETZ SHILIZA
800,000, 000& *99.37% 794,960
03 Al&E 201 Y| 5,040 3,600 1,440
OlEd sHEEZ SEZAZA
800,000, 000& *0.63% 5,040
AEH 800,000 200,000 600,000
401 Al HI L E0HHI 800,000 200,000 600,000
01 Al& H| 794,960 198, 560 596,400
OdAEH sHET SHIL A DA}
00,000, 000® *99.37% 794,960
03 Al& 20| 5,040 1,440 3,600
OASH SOHECR HEBTA
800,000, 000& *0.63% 5,040
sSHEZTZ2S X 22 500,000 850,000 A 350,000
401 Al HI L £ 0HHI 500,000 850,000 A 350,000
01 Al& H| 496,850 844,645 N 347,795
OsHEZZ FAHCIAY
500,000, 000& *99.37% 496,850
03 AlE 2 HH] 3,150 5,355 A2,205
OsHETZZ FAHCIAY
500,000,000 *0.63% 3,150
OlgH=x o1 A 400,000 0 400,000
401 AlEHIZL 2 0HY| 400,000 0 400,000
01 Al& H| 397,120 0 397,120
OOlMESED & ATHEBA
400,000,000%99.28% 397,120
03 Al 20| 2,880 0 2,880
OolgixsSst & CIE A Z A}
400,000,000%0.72% 2,880
CHAH A= WEk Hote 500,000 0 500,000
401 AlEHIZL 2 0HY| 500,000 0 500,000




SN AL
IU

Mz XgHE2
gel: s0EER (el &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 496,400 0 496,400
OUat A2 D WIHE B A
500,000, 000%99.28% 496,400
03 AlE 201 Y| 3,600 0 3,600
OUat A2 D WIHE B A
500,000,000%0.72% 3,600
dEaEH A JH| 140,000 0 140,000
401 AlEHIZL 2 0HY| 140,000 0 140,000
01 A& H| 138,992 0 138,992
OxFd &s84H gz |2 A
140,000, 000%99. 28% 138,992
03 Al&E 201 Y| 1,008 0 1,008
O3 &s4d U2 HYlZ2A
140,000,000%0.72% 1,008
SHEH 1,050,000 2,670,000 A 1,620,000
Ss 2 MYz H 100,000 0 100,000
401 Al HI L E0HHI 100,000 0 100,000
01 Al& H| 99,280 0 99,280
Oss 20t gz HUlZ2AH 99,280
03 AlE 201 | 720 0 720
Oxss 20t AU HHIZ2AH 720
Qo F4AF XAZ2 M| 150,000 0 150,000
401 Al HI L £ 0HHI 150,000 0 150,000
01 Al& H| 148,920 0 148,920
OE 1 =402 Mgz HHIZBAH
150,000, 000%99. 28% 148,920
03 Al 20| 1,080 0 1,080
OE 1 =40t gz HHIZBAH
150,000,000%0.72% 1,080
olg =0 Mgz HH| 700,000 0 700,000
401 AlEHIZL £ 0HY| 700,000 0 700,000
01 Al&H| 695,590 0 695,590
OCd E0|0t2 &gz HHlSAH 695,590
03 A& 20| 4,410 0 4,410
Oog =0|0ts Mgz HHIZ2AH 4,410
Otg 0l &=z A 100,000 0 100,000
401 AlEHIZL 2 0HY| 100,000 0 100,000
01 Al&H| 99,280 0 99,280
Oo0td olsio2 ALYz HH|IZ2A
100,000, 000%99. 28% 99,280




2N
X ZH -
L= B

el

om =y
0% 0T nx
M &

T8 H

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
03 AIE 2 0HHI 720 0 720
Ootd Olsit2 Y=z HHISA
100,000, 000%0.72% 720
AEEE AdEMS 100,000 1,405,000 A 1,305,000
TN A REEZ 50,000 0 50,000
401 AIEHIZ 28I 50,000 0 50,000
01 A& Hl 49,550 0 49,550
EM A AEER MENTEA
50,000,000%99. 10% 49,550
03 Al 20 HI 450 0 450
OFH T A2 AN A
50,000, 000%0.90% 450
s 22X /Y= 50,000 0 50,000
401 AIEBIZ 28I 50,000 0 50,000
01 A& Bl 49,550 0 49,550
Oss 22X IEE2 S8MESAM
50,000,000%99. 10% 49,550
03 Al 20 HI 450 0 450
Oss 22X IEE2 S8MESAM
50,000, 000%0.90% 450
HEEZ A2 6,770,000 3,500,000 3,270,000
< 231,800
Al 6,538,200
T2 ZXE FY| 100,000 150,000 250,000
401 Al BIZ 201 8] 100,000 150,000 A 50,000
01 A& HI 99,280 148,920 A 49,640
Os8XY EX&8 ZH A
100,000, 000& *99.28% 99,280
03 A& =TI 720 1,080 A 360
SHXSY ZXE ZHAS
100,000, 000& *0.72% 720
wnE(HY) g2 1,930,000 420,000 1,510,000
401 Al B2 28I 1,930,000 420,000 1,510,000
01 A& Bl 1,921,432 418,056 1,503,376
OANSY g B2xBAZTAH(SAIL)
1,480,000,000& *99.64% 1,474,672
OANSEY g B2BAZAH(FS0)
150,000, 000& *99.28% 148,920
On(HE) sXzel 2B
300,000,000& *99.28% 297,840
03 Al S THHI 8,568 1,944 6,624
OANSY g EE2LZIAM(SAL)
1,480,000,000& *0.36% 5,328
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2N
X ZH -
L= B

el

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OANSY g B2xEAZAH(FE0)
150,000, 000& *0.72% 1,080
ORg(HE) sXzel 2B
300,000,000& *0.72% 2,160
e W22 3A 700,000 1,000,000 A.300,000
401 Al HI K 201 I 700,000 1,000,000 300,000
01 A& Hl 697,480 996,400 A 298,920
Oug WIBLZSAH(LE2W)
700,000,000& *99.64% 697,480
03 Al 2 THHI 2,520 3,600 A 1,080
Oug WIBLSAH(LE2W)
700,000, 000& *0.36% 2,520
MO S &2 2ZHA 700,000 600,000 100,000
401 AIEHIZL 2CHYI 700,000 600,000 100,000
01 A& Hl 695,590 596,220 99,370
OAO S0 &2 2EINE AL
700,000,000& *99.37% 695,590
03 Al 2 0HHI 4,410 3,780 630
OAMDN 1t &2 FZIHAALY
700,000,000& *0.63% 4,410
R e AMNeE2 AE8EZ 150,000 0 150,000
< 31,800
Al 118,200
401 AIEHI L 20 150,000 0 150,000
< 31,800
Al 118,200
01 A& Bl 150,000 0 150,000
OgFZL UHAANEs FLAEFA(E2H]) 150,000
< 31,800
Al 118,200
Z2oaz2 Helxd 550,000 100,000 450,000
401 A& HI R 201 I 550,000 100,000 450,000
01 A& Hl 546,040 99,100 446,940
OZuae AHelx4d 200,000,000& *99.28% 198,560
OESOHIE & & FUIZA
350,000,000& *99.28% 347,480
03 A& = THHI 3,960 900 3,060
OZ2h4ae AHelx4 200,000,000& *0.72% 1,440
OLSO0HIE 2 & HHIZA
350,000,000& *0.72% 2,520
CERA2A2ES 1,200,000 1,080,000 120,000
401 AIEHI L 20 1,200,000 1,080,000 120,000
01 A& Hl 1,191,360 1,072,800 118,560




SN AL
M Ngez2
o HECZ X2 CEERED)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORIl (AN HEEZ)
500,000,000& *99.28% 496,400
OgdEs MEE 500,000,000& *99.28% 496,400
OQALIS 2 =2 HUISA
200,000,000& *99.28% 198,560
03 A& =TI 8,640 7,200 1,440
ORI BZ (AN HEEZ)
500,000,000& *0.72% 3,600
OgdEEz MEHE 500,000,000& *0.72% 3,600
OIS ¢ 42 FHIZA
200,000,000& *0.72% 1,440
I MWAE XA 500,000 0 500,000
= 140,000
Al 360,000
401 AIEHIZ 201 8I 500,000 0 500,000
= 140,000
Al 360,000
01 A& Hl 496,400 0 496,400
O =8l 2 duUXE EXSAt
500,000,000& * 99.28% 496,400
= 140,000
Al 356,400
03 Al 2 THHI 3,600 0 3,600
O E=tdiel 38Xz ZXSAt
500,000,000& * 0.72% 3,600
BA SEHE 2270 XA (HSAIY) 240,000 0 240,000
< 60,000
Al 180,000
401 AIEHIZ 28I 240,000 0 240,000
= 60,000
Al 180,000
01 A& Bl 238,272 0 238,272
OO0t DH&t0lE AL R2YEY AXSA 238,272
< 60,000
Al 178,272
03 A& =2 THHI 1,728 0 1,728
O0tE OHat0tE AL RYE AXSA 1,728
SEEIHZ (L) ZHISA 700,000 0 700,000
401 AIEHI L 2CHYI 700,000 0 700,000
01 Al H 695,590 0 695,590
OLEIHZ(RET) FBE0Z ZLTM
700,000,000 *99.37% 695,590
03 Al 2 0HHI 4,410 0 4,410
OZEIMZ(KYM) Y202 ZHIA
700,000,000& *0.63% 4,410
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A R =y
3 S 2z
¢elr EEsiliae (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S22 1,831,282 976,430 854,852
< 7,720
Al 1,823,562
EE2RA 2 981,282 626,430 354,852
< 7,720
Al 973,562
Aol O 2 346,679 348,288 A 1,609
201 Let24E] 114,000 114,000 0
01 At 22l 114,000 114,000 0
OBEEZ MEXE Xz
6,800,000 ~4CH*301 & 81,600
O1EEZ MeEXeE Xz
5,400, 000& «2CH 301 & 32,400
206 = Hl 149,879 141,288 8,591
01 MHZ 4l 149,879 141,288 8,591
OE=H&EE Zatzs 7 200,000+200 40,000
OEZHELE &3 7 150, 000+300 45,000
OEZNMEE 2i=0U 2 300&=15,0000H 4,500
SH MEUWM SFJU(MEHE)
1,630&+700L* 190 S & 21,679
OEZHELE 2 7 6,000& x1,400m’ 8,400
ONM&I DRaY TY(EAHDES)
250,000& = 18CH 4,500
OM&ED DR (UHSRRE)
250,000& = 10CH 2,500
ONg 42018 R7 #¢
1,360& x250L+501 & 1,700
OM&Il dHX(SHSSE) 800,000& »27H 21,600
405 THobH S| 82,800 93,000 210,200
01 AR ESFH S 82,800 93,000 A 10,200
O1EE &84 &4XZ) M+
13,000, 000+ 1 CH 13,000
Ob82 MEJ U= 9,800,000*1CH 9,800
OEdHE H4&) P (SYHs B2)
3,000, 000%20CH 60,000
S AL 22 626,883 270,423 356,460
201 ¢er24l 183,182 172,682 10,500
01 At 22/l 38,014 27,514 10,500
OE+=ZH (2 RMU-E2 ZAHEY =28)
526,000& 122 X 6,312
O2ZS2ML AEHEA BHEY =25
526,000& x22& X 11,572
Oget=gHl 8,580
MEE2S FHI 300,000& 1200 & 3,600
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2N
X ZH -
L= B

el

= - SHE|
M- BB (BH) - NEAY - BaS e
SA X2l 200,000 1204 2 2,400
SA2X P 23,0008 *58t A x 120 & 1,380
ARZEDI RY 100,000 1204 2 1,200
=2 1 (2A3) 250,000 *3 750
M3 RY(2H3) 100,000 3% 300
e p(cz2eld12, AId22|K3)
300,0002 155 4,500
M3 (22|12, AIL22|/3)
100,000 *15% 1,500
UH(SR, HE, HMAE=Y)
8,000% 152 25 3,000
A22IHEC 222 LA BE
150,000%10 1,500
02 2229 145,168 145, 168
O22e23 HAl 75,000
OSZ2BLUMRBA ROAH 48
119,000 1204 & 1,428
OxgsXdl(Sa0) 45,600
OXtgt£elH (BH L A2 EH|) 9,600
OMZJl 2 H& aZI) X 22l
100,000 *14LH *23] 2,800
AHEZ HA 700,000 *9CH 6,300
Y MIIHME A e H
260,000 * 1204 & 3,120
HE82 ALQUE MI|otME| HEH A
110,000 1204 & 1,320
203 Sl 3,000 3,000
03 AIBHEE AR E XY 3,000 3,000
HUFAL AMEX 3000
206 bl 62,227 62,227
01 bl 62,227 62,207
2AME S8 XM (E6HE 25kg)
27,0002 *900 24,300
HHEZ 242 XM (SSCON)
24,0002 #4701 11,280
OE2AME22 XM (OtAZE 25kg)
24,0002 * 180 4,320
OTZ22MELE XM (0LAZ) 90,0002 *70E 6,300
OE2AMELE UM (AME) 7,5008 «200E 1,500
OE2AMELE2 IW(2EEEH)
134,0002 x28HI &l E 3,752
OEz2S3=2312 MM(===21)
5,300€ *1,600m 8,480
Oc2E2E328 NM(HAR)
8,5008 x270m 2,295




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 5,514 5,514 0
12JEEd=S 5,514 5,514 0
OUESHEZAL Z2HX BAZ(ANZE)
91,9003 * 100 2~ +6H 5,514
401 Al HI K 201 I 164,460 11,000 153,460
01 A& Hl 164,460 11,000 153,460
OS2 2eAF A OFRZE ZEIZA
60,000,000%99. 1% 59,460
OH&AY L2 (=2FHHI) 800,000x100 80,000
O s(sceE=3)dgd=z Fdl 2AM 25,000
405 XtAtE SHI 208,500 7,000 201,500
01 AR EZFH S 208,500 7,000 201,500
O=4D A= 193,500, 0001 CH 193,500
OsgM=) £3uHd +¢ 15,000, 000+ 1 CH 15,000
nsE A 7,720 7,719 1
< 7,720
301 LA S 7,720 7,719 1
< 7,720
12JIEBE43 7,720 7,719 1
OuESEA HOA BEAS(XNYSE) 7,720
< 7,720
2B 42 850,000 350,000 500,000
Ao 50,000 50,000 0
35 & =SS 50,000 50,000 0
01 =8 50,000 50,000 0
ORY0ISz 23AH 2=, iz 50,000
ey 800,000 300,000 500,000
401 Al HI K 201 Y] 800,000 300,000 500,000
01 A& HI 800,000 300,000 500,000
OQUXNZEX(ARX HAEZ)B24 800,000
ot &l 23,789,602 61,462,158 N 37,672,556
= 1,319,000
< 8,052,400
Al 14,418,202
ot & 22| 6,277,602 5,921,665 355,937
= 1,319,000
< 1,052,400
Al 3,906,202
ot |Xl2el 2,653,005 1,666,012 986,993
201 ¢et24| 7,000 7,000 0
01 At 22l 7,000 7,000 0




A A&
= otE &bl
el stEael CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Ot g X 2eAMY =S /st 25 #¢ 2,000
Oodld £==2MHE HUHILI(ZH/ZH) 5,000
206 M = dl 9,005 9,012 Vav4
01 XHZ HI 9,005 9,012 VaV4
OJI8H 3Bl 223 9,005
IS MEE SFUHEA/Z=A)
1,630& 5004 74 & 5,705
Ol=D Z<e 1&(ZAH/=AH)
550,000& *63| 3,300
401 Al HI L 2 0HHI 2,637,000 1,650,000 987,000
01 A& HI 2,630,070 1,638,201 991,869
Ootd SR 2el ALY (31000 A, L=384km= 15km)
600,000, 000& *99.37% 596,220
Ootd ot==& AFH (31000 A, L=384km= 20km)
500,000, 000& *99.37% 496,850
Odld ARRAAE (MY Y 50F) =SAAE 305,000
A S22l AP (L=0.08km) 70,000
FOIE A X 22| A (L=0. 10km) 60,000
SHMIE S el A (L=0.13km) 75,000
TotE S X222l AP (L=0.50km) 100,000
OZF01 &0 0 & 952,000
X As2HE S(82d, MEA) SX2
2l AR 80,000
=X Yg=& AF ol ol 23 At 17,000
=X MSA o7 dHlALY 200,000
& 2<==FHAF & =8 A H| 45,000
MO ==& otF HUIALY 50,000
ALOH 2 EBE A8 ALY 40,000
AHOH 2283 & St & H At 90,000
S DHOIE2 DEA HUIAY 25,000
S DEOIS 2ME HHIAY 25,000
S DHOE DEAM(wE ) HUHAMY 15,000
S AISE Mg J 80,000
E& GlaA HHIAFS 20,000
olgl A St A 100,000
Ol FOEA =T SA 90,000
olgl FAA o2 B A 75,000
Oar2 O iZAIY 280,000
FH #HAHDIS ASIE SR Z2AH 30,000
FN S Aol B2AAIY 15,000
o =02 2EESAE HUAY 30,000
AL R E =& HHI S A 25,000
2E YUY MAE HH SA 80,000




A R =y
M ofd FHHl
chel: ot& 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ole8 H&tA FHHIS A 20,000
g HsAotd ZHIZA 80,000
03 AIE 2 THHI 6,930 11,799 N4,869
Ootd KA &AL 600,000,000& *0.63% 3,780
Ootd otEE&E ALY 500,000,000& *0.63% 3,150
St X2l (EX) 175,000 0 175,000
< 52,400
Al 122,600
401 AIEHIZL 20HEI 175,000 0 175,000
< 52,400
Al 122,600
01 A& HI 175,000 0 175,000
O mActd MHoHAE LIMAIE ZHAS 175,000
< 52,400
Al 122,600
I8 M-S X 2e 130,597 165,751 N25,154
101 @124 dl 46,609 73,518 A26,909
04 JIZHHZ22XREES 46,609 73,518 A26,909
OdtENY SN2 AUHA(RHF)
144 5003 23| x 15«5 21,675
OZXd YEHHZE Uz 9=2¢
144 5003 23| x 10H «3 8,670
OBXH MEHZH +222 22
144 5003 23| x» 10 x4 11,560
O=Jtotd =2 Z2el Xt 4,704
=2 10HA 2el Xt 179,200 42 «501 2 3,584
=2 200 22l Xk 224,0003 «1H «504 & 1,120
201 L2l 30,388 28,633 1,755
02 2324l 30,388 28,633 1,755
OBAFOILR) MIAFBR HHx+2
171,700 » 1200 3 204 & 4,121
OSLEVDIEE) dIe=
831,930 * 1200 & 24 & 19,967
ORE AZ2ZE AL dIIe=s
105,000 1270 & 304 & 3,780
OZXd MEHBRE JI2s HIIe=s
70,000 =120 & «30H £ 2,520
206 M= Hl 1,600 1,600 0
01 M= 4l 1,600 1,600 0
OZXNd MEHHZB2 =522 A28 2¢
800, 000& »23] 1,600
401 A& HIZ 201 Y] 52,000 52,000 0
01 A& HI 52,000 52,000 0




2N

g 6}; &l
cHel: stE e (29l & 2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFXE MEIE SJRAAY AZFZ2LIHEY 292
52,000,000 =14 52,000
IIEHSAZe(EX) 2,000,000 2,728,000 A728,000
= 1,000,000
Al 1,000,000
401 Al HI K 201 I 2,000,000 2,728,000 A728,000
= 1,000,000
Al 1,000,000
01 A& HI 2,000,000 2,728,000 A728,000
OdotEM Y SFXE2+ 2,000,000
< 1,000,000
Al 1,000,000
ot RA B4 AG(BX) 1,319,000 982,000 337,000
= 1,319,000
201 L2l 30,000 2,000 28,000
= 30,000
02 =224l 30,000 2,000 28,000
O =Jtotd RANE= =2 &I € S4& S 30,000
= 30,000
206 = Hl 7,000 7,000 0
= 7,000
01 =8l 7,000 7,000 0
O =2Jtotd |RANE=+ M=E=E A8 225 72 7,000
= 7,000
401 Al HIZ 201 Y| 1,282,000 973,000 309,000
= 1,282,000
01 A& HI 1,282,000 973,000 309,000
O =Jtotd |RXUE = At 1,282,000
= 1,282,000
GF & XH ol Ol 2 17,512,000 55,540,493 A 38,028,493
< 7,000,000
Al 10,512,000
A0t® ZHI(HEAIY) 7,152,000 4,985,000 2,167,000
401 Al HIZ 201 8] 7,152,000 4,985,000 2,167,000
01 A& HI 7,126,253 4,965,308 2,160,945
OYsactd HUlALEY
2,952,000,000& *99.64% 2,941,373
OtgAotd ALY
1,600,000,000& *99.64% 1,594,240
O&t=2A0tE HUlALEY
2,600,000,000& *99.64% 2,590,640
03 A& S THHI 25,747 19,692 6,055
gsAotd HUIAY 10,627
O Aadctd FHIALY  1,600,000,000& *0.36% 5,760
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMt=A0lE HHBIAY  2,600,000,000& *0.36% 9,360
NS EHAIS(BRZALH) EX(HSH) (HEAY) 4,000,000 9,688,001 AN5,688,001
= 2,800,000
Al 1,200,000
401 AlEHIZL 2 0HY| 4,000,000 9,688,001 AN5,688,001
= 2,800,000
Al 1,200,000
01 Al& B 3,989,200 9,661,843 N5,672,643
OJ}FA SIEHH L &x=228 LAY
4 ,000,000,000%99.73% 3,989,200
= 2,800,000
Al 1,189,200
03 Al 20| 10,800 26, 158 AN 15,358
OJFA SIEAEH L &=2B2F LAY
4.,000,000,000%0.27% 10,800
NS AU A (DS 24H) EX(HSH)(HEAY) 6,000,000 6,500,000 A 500,000
& 4,200,000
Al 1,800,000
401 AlEHIZL 2 0HY| 6,000,000 6,500,000 A 500,000
& 4,200,000
Al 1,800,000
01 Al&EH| 5,980,200 6,483,750 A 503,550
O XYatE HHAY
5,000,000,000%99.73% 4,986,500
& 3,500,000
Al 1,486,500
O XYdtE HUl S A
1,000,000,000%99.37% 993,700
= 700,000
Al 293,700
03 Al 20| 19,800 16,250 3,550
O Xatd HHAY
5,000,000,000%0.27% 13,500
Ot XYota Hdl 3 At
1,000,000,000%0.63% 6,300
2ol =22 (XA 360,000 0 360,000
401 AlEHIZL £ 0HY| 360,000 0 360,000
01 Al&EH| 360,000 0 360,000
Odtd o= (XA 360,000
SHEAAH (HE W) 37,980 37,408 572
Jl2ZH (A& ) 37,980 37,408 572
Jl2dd (A& ) 37,980 37,408 572
201 LBt | 9,900 9,448 452
01 AP 22| d| 9,900 9,448 452
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